
 

Figure S1. YLD Counts likely benefiting from phyisical rehabilitation along with the “best fit” regression models. 

  

Global:
growth per year =  5.1 Billion
(99% CI= 4.8 - 5.4; p<0.01*)

r²= 0.9887

High: Growth per year = 807 Million
(99% CI= 757 - 857; p<0.01*) r² = 0.9873

Upper Middle: 
Growth per year = 1.78 Billion 
(99% CI= 1.66 - 1.90; p<0.01*)  

r² = 0.985

Lower Middle: 
Growth per year: 2.1 Billion

(99% CI= 2.0 - 2.22;   p<0.01*)
r² = 0.9897

Low: Growth per year = 394 Million
(99% CI= 381 - 407; p<0.01*) r² = 0.9964
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Figure S2. YLD Rates (per 100,000 People) likley benefiting from physical rehabilitation along with the “best fit” regression models. 

  

Global:
Growth per year = 25.71

(99% CI=23.02 - 28.4; p<0.01*) 
r² = 0.9644

High:
Growth per year = 33.1

99% (CI=30.4 - 35.8; p<0.01*) 
r² = 0.9784

Upper Middle
Growth per year = 42.64 

(99% CI=38.1 - 47.18; p<0.01*) 
r² = 0.9632

Lower Middle
Growth per year= 21.59

(99% CI=19.34 - 23.83; p<0.01*) 
r² = 0.9648

Low: y = 39.247ln(x) + 3007.8
p=0.02** r² = 0.4977
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Figure S3: Age-standardized YLD Rates likely benefiting from physical rehabilitation along with the “best fit” regression models. 

Global
y = -17.38ln(x) + 4353.8

p= 0.41 r² = 0.2205

High: y = -57.62ln(x) + 5039.5;
p< 0.01*; r² = 0.8567

Upper Middle
Growth per year 1.34 
(99% CI: (-2.3) - 5.0)
p=0.32; r² = 0.0381

Lower Middle:
Growth per year: 2.33

(99% CI: 0.89 - 3.78; p< 0.01*); r² = 0.4594

Low
y = 33.286ln(x) + 4273.3

p=0.85; r² = 0.1476
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